
 

                  18 ÷ 6 =  
  

 Draw a Picture               Repeated Subtraction 
                                  18             

                                 -  6    1      

                                                 12         

   18 ÷ 6 = 3                                         - 6    2    

   There are 18 in all:                                        6        I subtracted  

  I put 6 into each group,           -6     3     6 three times. 

and I have 3 equal groups.               0       
                                           18 ÷ 6 = 3 
      

     Skip Count                  

       6, 12, 18    Use what you know:         

    This is 3 sixes,      Multiplication Facts and Fact Families              

  so the answer is 3.   I know that 3 x 6 = 18, so 

          18 ÷ 6 = 3                                        18 ÷ 6 = 3                           


